66730

2561

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by: Kms:

Kale Hemphill 2313

Hr:

Status:

Start Date:

Serial Number: **Business Unit:**

Closed

1T0850LXCNF420294

Machinery 5/1/2025

Stop Date: 5/1/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KALE HEMPHILL	7.00 RT	Shop Mech Field	\$59.34	\$415.38
			Total Labor	\$415.38
No. 1 Table 1			Total Parts	\$0.00
(in the state of t			Total Equip	\$0.00
2 2 2		THE ENGINEER COLOR SHOWS IN MANY PROPERTY AND ADDRESS.	Total Cost	\$415.38

Item ID	Description	Completed By	Reported Hours
122100	7918 fix leaks and lights	Kale Hemphill	7.00
Work Order	: 67814	Status:	Closed
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Locat	ion: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	6/3/2025
Kms:	2313	Stop Date:	6/3/2025
Hr:	2561		

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	3.00 RT	Shop Lube	\$41.17	\$123.51
a .			Total Labor	\$123.51
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	2.00 Each	l	\$32.41	\$64.83
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	2.00 Each	ì	\$19.34	\$38.69
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	ĺ	\$81.86	\$81.86
FILTER FUEL {JD: RE533910, FLG: FS1093} [DZ112918]	1.00 Each	i	\$217.57	\$217.57
FILTER FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	Î	\$214.16	\$214.16
FILTER LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each		\$45.65	\$45.65
			Total Parts	\$662.75
			Total Equip	\$0.00
		POSTERIO DE PROPERTO DE LO PERSONA DE PROPERTO DE PERSONA DE PERSO	Total Cost	\$786.26

Item ID	Description	Completed By	Reported Hours
123912	0500 Hour Service	Carla Merklin	3.00

62466

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by: Kms:

Brittinni Lockard

Hr:

2313

2561

Status:

Serial Number:

Machinery

Business Unit: Start Date:

1/8/2025

Closed

Stop Date:

1/8/2025

1T0850LXCNF420294

Work Order Cost Summary

Descript	tion	Quantity	Labor Type	Rate	Total
ANTHON	Y RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
				Total Labor	\$41.17
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
81271	0250 Hour Service	Anthony Rodriguez	1,00
* Chai	nge engine oil.		

- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: Equipment:

63404

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Carla Merklin 2313

Kms: Hr:

2561

Status:

Serial Number:

1T0850LXCNF420294 Machinery

Business Unit: Start Date:

2/5/2025

Closed

Stop Date:

2/5/2025

Descri	ption	Quantity	Labor Type	Rate	Total
DAVE H	UNT	8.00 RT	Shop Mech Field	\$59.34	\$474.72
				Total Labor	\$474.72
				Total Parts	\$0.00
				Total Equip	\$0.00
			 	Total Cost	\$474.72

Item I	Description	Completed By	Reported Hours
116031	7918 - cold start	Carla Merklin	8.00

61432

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: 2313 Hr: 2561

Status:

Serial Number:

Business Unit:

Start Date: Stop Date: Closed

1T0850LXCNF420294

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$296.70

Item ID	Description	Completed By	Reported Hours
112329	7918 - CHECK ESPAR	Carla Merklin	5.00
Work Order:	61874	Status:	Closed
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	2313	Stop Date:	
Hr:	2561	•	

Descriptio	on	Quantity Labor Type	Rate	Total
ALLAN SUT	HERLAND	3.00 RT Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$178.02
BOLT - MAS	STER [1070719]	4.00 Each	\$4.84	\$19.36
TRACK BOL	.T [9S1838]	4.00 Each	\$5.40	\$21,60
			Total Parts	\$40.96
			Total Equip	\$0.00
			Total Cost	\$218.98
Item ID	Description	Completed By	Reported Hour	S
113413	7918 - HYD LEAK, ESPAR REPAIRS	Carla Merklin	3.00	

- Change all filters. Change engine oil. Change transmission oil.
- Change hydraulic oil 450J/650J 2000hr Change hydraulic oil 750L/850L 4000hr Change final drive oil.

- Change winch oil.
- Check all fluids.
- Complete grease.
- Sample all oils.

83505 0500 Hour Service

Carla Merklin

8.00

- * Change engine oil.
 * Change engine filters -- oil and air.
- * Change fuel filters.
 * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:

60373

Status: Serial Number: Closed

Equipment: Work Location: 850L LGP JD DOZER [7918] **Current Equipment Location**

Business Unit:

1T0850LXCNF420294

Created by:

Bart West

Start Date: Stop Date:

Machinery

Kms:

Hr:

2313

2561

Descri	ption	Quantity	Labor Type	Rate	Total
BARTL	Y WEST	6.50 RT	Shop Weld Field	\$55.71	\$362.12
				Total Labor	\$362.12
				Total Parts	\$0.00
				Total Equip	\$0.00
		· " · · ·		Total Cost	\$362.12

Item ID	Description	Completed By	Reported Hours
110383	7918 checkover	Carla Merklin	6.50

55255

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

2313 2561

Status:

Serial Number:

Business Unit:

1T0850LXCNF420294 Machinery

Closed

Start Date:

Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	2.50 RT	Shop Mech Field	\$59.34	\$148.35
			Total Labor	\$148.35
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$148.35

Item ID D	Description	Completed By	Reported Hours
101214 7	918 - loose air to air hose, plug in w/s sensor	Jeremy Detema	2.50
Work Order:	56468	Status:	Closed
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Location:	: Current Equipment Location	Business Unit:	Machinery
Created by:	Jeremy Detema	Start Date:	•
Kms:	2313	Stop Date:	
Hr:	2561	•	

Work Order Cost Summary

123018

2000 Hour Service

Description	Quantity Labor Ty	pe Rate	Total
STEVEN MICKLEBORO	8.00 RT Shop Lub	e \$41.17	\$329.36
		Total Labor	\$329.36
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	2.00 Each	\$33.53	\$67.06
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	2.00 Each	\$19.08	\$38.16
FILTER AIR BREATHER [AT415455]	2.00 Each	\$226.01	\$452.02
FILTER CAB AIR FLG: AF55770} AT191102 [P621643]	1.00 Each	\$14.07	\$14.07
FILTER CAB AIR {JD: AT528017} [AT315957]	1.00 Each	\$67.62	\$67.62
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	\$73.51	\$73.51
FILTER FUEL {JD: RE533910, FLG: FS1093} [DZ112918]	1.00 Each	\$202.97	\$202.97
FILTER FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	\$215.55	\$215.55
FILTER LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each	\$39.13	\$39.13
FILTER TRANSMISSION {FLG: HF6588} [AT318160]	2.00 Each	\$164.10	\$328.19
		Total Parts	\$1,498.30
		Total Equip	\$0.00
		Total Cost	\$1,827.66
Item ID Description	Complete	ed By Reported Hou	rs

Carla Merklin

0.00

47490

Equipment:

850L LGP JD DOZER [7918] Current Equipment Location

Work Location: Created by:

Bryce Turner

Kms: 2313

Hr: 2561

Status:

Serial Number: Business Unit: Transferred

1T0850LXCNF420294 Machinery

Start Date: Stop Date: 10/20/2023

Work Order Cost Summary

Descr	iption	Quantity	Labor Type	Rate	Total
BRYCE	TURNER	2.50 RT	Shop Mech Rky	\$49.05	\$122.63
				Total Labor	\$122.63
			_	Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$122.63

Item :	D Descrip	tion	Completed By	Reported Hours
87522	7918 ou	tgoing inspection	Brittinni Lockard	2.50
Work	Order:	53466	Status:	Closed
Equip	ment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work	Location:	Current Equipment Location	Business Unit:	Machinery
Create	ed by:	Carla Merklin	Start Date:	4/23/2024
Kms:		2313	Stop Date:	4/23/2024
Hr:		2561		

Descr	ption	Quantity	Labor Type	Rate	Total
JOHN (IBERSON	5.25 RT	Shop Mech Rky	\$49.05	\$257.51
				Total Labor	\$257.51
POWER	OUTLET {3923-11} [2135C]	2.00 Each	1	\$10.56	\$21.12
				Total Parts	\$21.12
				Total Equip	\$0.00
				Total Cost	\$278.63

Item ID	Description	Completed By	Reported Hours
98056	7918 - checkover	Carla Merklin	5.25

47393

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms:

2313

Status:

Serial Number:

Transferred 1T0850LXCNF420294

Business Unit: Start Date: Stop Date:

Machinery 10/18/2023 10/18/2023

Hr: 2561

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
69564	0250 Hour Service	Brittinni Lockard	2.00

* Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

* Complete grease.
* Sample engine oil.

Work Order:

47423

Equipment:

850L LGP JD DOZER [7918]

Work Location: Created by:

Current Equipment Location

Kms:

2313

Cody Brown

Hr:

2561

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1T0850LXCNF420294

Machinery

10/19/2023 10/19/2023

Description	Quantity Labor Type	Rate	Total
CODY BROWN	2.50 RT Shop Mech Rky	\$49.05	\$122.63
		Total Labor	\$122.63
CORNER BIT - LH [T187244]	1.00 Each	\$87.99	\$87.99
CORNER BIT - RH (JOHN DEERE) [T187243]	1.00 Each	\$87 . 99	\$87.99
CUTTING EDGE - UNIT#722 (JOHN DEERE) [T187988]	1.00 Each	\$240.79	\$240.79
CUTTING EDGE [T187989]	1.00 Each	\$213,33	\$213,33
CUTTING EDGE [T187989]	1.00 Each	\$233.57	\$233.57
		Total Parts	\$863.68
	-	Total Equip	\$0.00
		Total Cost	\$986.30

Item ID	Description	Completed By	Reported Hours	
87391	7918-OES rental return imspection	Brittinni Lockard	3.50	
97331	7910-OL3 Tental Tetal IT inispection	Brittinni Lockard	2.50	

43705

Equipment:

850L LGP JD DOZER [7918]

Work Location: Created by:

MAIN YARD Jarrett Hutzkal

Kms: Hr:

2313 2561

Serial Number: Business Unit:

Status:

Transferred

1T0850LXCNF420294 Machinery

Start Date: Stop Date:

6/27/2023 6/27/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JARRETT HUTZKAL	2.25 RT	Shop Mech Rky	\$49.05	\$110.36
			Total Labor	\$110.36
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$110.36

Item	ID Descri	ption	Completed By	Reported Hours
80413	7918 O	ES OUTGOING RENTAL INSPECTION	Brittinni Lockard	2.25
CHE	CKLIST, FUEL,D	EF, GREASE		
Work	Order:	47224	Status:	Transferred
Equip	ment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work	Location:		Business Unit:	Machinery
Creat	ed by:	Brittinni Lockard	Start Date:	
Kms:		2313	Stop Date:	
Hr:		2561		

Descr	ption	Quantity La	bor Type	Rate	Total
			,	Total Labor	\$0.00
			-	Total Parts	\$0.00
			•	Total Equip	\$0.00
				Total Cost	\$0.00

Item 1	D Description	Completed By	Reported Hours
70012	0500 Hour Service	Brittinni Lockard	0.00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Change fuel filters.
 * Check all fluids.
 * Complete grease.
 * Sample all oils.

43301

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms:

2313

Hr:

2561

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred 1T0850LXCNF420294

Machinery

6/13/2023

6/13/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	3.50 RT	Shop Mech Rky	\$49.05	\$171.68
			Total Labor	\$171.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$171.68

Notes: 1228HRS

Item ID	Description	Completed By	Reported Hours
79730	7918 - CHECK OVER	John Giberson	3.50

Work Order:

43684

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location Carla Merklin

Created by: Kms:

2313 2561

Hr:

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Machinery

Transferred

1T0850LXCNF420294

6/27/2023 6/27/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	1.50 RT	Shop Mech Field	\$59.34	\$89.01
TREVOR IRONSIDE	2.00 RT	Shop Weld Field	\$55.71	\$111.42
			Total Labor	\$200.43
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$200.43

Notes: BART DERKS - CUT OFF CORKS, REMOVED RADIO

Item ID	Description	Completed By	Reported Hours
80395	7918- alternator, cork	Brittinni Lockard	3.50

41644

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

2313 2561

Business Unit: Start Date:

Serial Number:

Status:

Transferred

1T0850LXCNF420294

Machinery 4/20/2023

Stop Date:

4/20/2023

Work Order Cost Summary

Descr	iption	Quantity	Labor Type	Rate	Total
JOHN	GIBERSON	5.25 RT	Shop Mech Rky	\$49.05	\$257.51
				Total Labor	\$257.51
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$257.51

Item ID De:	scription	Completed By	Reported Hours
76841 791	8 - OES BENEDICT REINSTALL ANGLE CYLINDER	Brittinni Lockard	5.25
Work Order:	42975	Status:	Transferred
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	6/5/2023
Kms:	2313	Stop Date:	6/5/2023
Hr:	2561		

Desci	iption	Quantity	Labor Type	Rate	Total
STEVE	N MICKLEBORO	0.50 RT	Shop Lube	\$41.17	\$20.59
				Total Labor	\$20.59
				Total Parts	\$0.00
				Total Equip	\$0.00
Щ.				Total Cost	\$20.59

Item I	D Description	Completed By	Reported Hours
67406	0250 Hour Service	Brittinni Lockard	0.50
	Change engine oil.		
	Change engine filters oil and air. Check all fluids.		
*	Complete grease.		
	Sample engine oil,		

40033

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Cody Brown

Kms:

2313

2561

Hr:

Status:

Serial Number:

Transferred 1T0850LXCNF420294

Business Unit:

Machinery

Start Date:

2/27/2023

Stop Date:

2/27/2023

Total Cost

\$303.09

Work Order Cost Summary

Quantity Labor Type	Rate	Total
3.00 RT Shop Mech Rky	\$49.05	\$147.15
	Total Labor	\$147.15
1.00 Each	\$112.08	\$112.08
1.00 Each	\$7.42	\$7.42
2.00 Each	\$10.15	\$20.30
2.00 Each	\$8.07	\$16.14
	Total Parts	\$155.94
	Total Equip	\$0.00
	3.00 RT Shop Mech Rky 1.00 Each 1.00 Each 2.00 Each	3.00 RT Shop Mech Rky \$49.05 Total Labor 1.00 Each \$112.08 1.00 Each \$7.42 2.00 Each \$10.15 2.00 Each \$8.07 Total Parts

Item ID	Description	Completed By	Reported Hours
73763	7918-Repair angle cylinder and hose	Brittinni Lockard	3.00
Work Order	40276	Status:	Transferred
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	3/7/2023
Kms:	2313	Stop Date:	3/7/2023
Hr:	2561		

Description	Quantity	Labor Type	Rate	Total
CODY BROWN	4.50 RT	Shop Mech Rky	\$49.05	\$220.73
			Total Labor	\$220.73
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$220.73

Description	Completed By	Reported Hours
7918 - removed cylinder for repairs ongoing	John Giberson	4.50
		Completed by

38097

Equipment:

Work Location:

Created by:

Brittinni Lockard

Kms: 2313 2561 Hr:

850L LGP JD DOZER [7918]

Status: Serial Number: **Business Unit:**

Start Date:

Stop Date:

Transferred

1T0850LXCNF420294

Machinery

Work Order Cost Summary

Desc	iption	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
<u> </u>			Total Cost	\$0.00

Notes: 950HRS

Item ID	Description	Completed By	Reported Hours
70436	1000 Hour Service	Brittinni Lockard	0.00
* Cha	inge all filters.		
	nge engine oil.		
	inge final drive oil. Inge winch oil.		
	ck all fluids.		
	nplete grease.		
* San	nple all oils.		

Work Order: **Equipment:**

38999

850L LGP JD DOZER [7918]

Work Location: Created by:

Current Equipment Location Cody Brown

2313 Kms 2561 Hr:

Status:

Serial Number:

1T0850LXCNF420294

Business Unit: Start Date:

Machinery 1/24/2023

Transferred

Stop Date: 1/24/2023

Desc	ription	Quantity	Labor Type	Rate	Total
CODY	BROWN	3.00 RT	Shop Mech Rky	\$49.05	\$147.15
KAIDE	N FRIES	2.00 RT	Shop Mech Field	\$59.34	\$118.68
				Total Labor	\$265.83
HYDR	AULI [AHC21922]	1,00 Each	1	(\$196.48)	(\$196.48)
HYDR	AULI [AHC21922]	1.00 Each	1	\$196.48	\$196.48
ROD S	EAL KIT[Custom]	1.00 Each)	\$191.02	\$191.02
SEAL	KIT AHC16724[Custom]	1.00 Each	1	(\$191.02)	(\$191.02)
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$265.83

Item	ID Description	Completed By	Reported Hours
7189	7918-OES rental return inspection	Brittinni Lockard	5.00

33050

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

2313

Hr: 2561 Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred

Machinery

7/14/2022 7/15/2022

1T0850LXCNF420294

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	1.50 RT	Shop Mech Rky	\$49.05	\$73.58
			Total Labor	\$73.58
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$73.58

Item ID	Description	Completed By	Reported Hours
60848	7918 - OES check over	Carla Merklin	1.50
Work Order	35467	Status:	Transferred
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Locati	ion:	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	•
Kms:	2313	Stop Date:	
Hr:	2561	•	

Description	Quantity Labor Type	Rate	Total
-		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
,		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
65349	0500 Hour Service	Carla Merklin	0.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Change fuel filters.

 * Check all fluids.

- * Complete grease.
- * Sample all oils.

Filters: Start Date - 9/23/2000; End Date - 9/23/2025; Equipment - 850L LGP JD DOZER [7918]

Work Order:

31449

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: 2313 Hr: 2561 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1T0850LXCNF420294

Machinery

5/20/2022 5/20/2022

Work Order Cost Summary

Desci	iption	Quantity	Labor Type	Rate	Total
KYLE	DRANEY	12,75 RT	Shop Weld Rky	\$49.00	\$624.75
TEVIN	FERRIS	2.00 RT	Shop Mech Field	\$54.00	\$108.00
				Total Labor	\$732.75
FIRST	AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each	1	\$15.83	\$15.83
				Total Parts	\$15.83
				Total Equip	\$0.00
				Total Cost	\$748.58

Item ID Descri	ption	Completed By	Reported Hours
57725 7918 -	RIG UP	Carla Merklin	14.75
Work Order:	33002	Status:	Transferred
Equipment:	850L LGP JD DOZER [7918]	Serial Number:	1T0850LXCNF420294
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	7/14/2022
Kms:	2313	Stop Date:	7/14/2022
Hr:	2561		

Desc	iption	Quantity	Labor Type	Rate	Total
STEV	N MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
				Total Labor	\$82,34
FILTE	R AIR (P828889, 1106326, KV16429, AT171853) [P828889]	2.00 Each	1	\$28.64	\$57.29
FILTE	R AIR {P829333, 1106331, AT171854} [AF25558]	2.00 Each)	\$15.54	\$31.08
FILTE	R LUBE SPIN-ON {DZ101884,LF16106} [DZ118283]	1.00 Each	1	\$4.69	\$4.69
				Total Parts	\$93.06
				Total Equip	\$0.00
Щ.			· · · · · · · · · · · · · · · · · · ·	Total Cost	\$175.40

Item	ID Description	Completed By	Reported Hours
60757	7918 - 250HR SERVICE EARLY GOING FOR RENT	Carla Merklin	2.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Change fuel filters.

 * Check all fluids.

- * Complete grease.
- * Sample all oils.
 * Komatsu D71 final drive change

Equipment:

70473

850L LGP JD DOZER [7918]

Work Location:

Foothills Okotoks Regional Water Pipeline - Ph. 4

Created by: Charles Hamelin Kms:

2313 Hr: 2561 Status:

Closed

Serial Number: **Business Unit:**

1T0850LXCNF420294

Machinery **Start Date:** 7/18/2025 Stop Date: 7/18/2025

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	0.25 RT	Shop Lube	\$41.17	\$10.29
			Total Labor	\$10.29
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$10.29

Item ID Description		Completed By	Reported Hours
126412	0250 Hour Service	Charles Hamelin	0,25

- * Sample engine oil.
 * Check all fluids.
- * Complete grease.

72720

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by: Kms:

Carla Merklin 2313

Hr:

2561

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1T0850LXCNF420294

Machinery 9/8/2025

9/8/2025

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
BARTLE	Y WEST	6.00 RT	Shop Weld Field	\$55.71	\$334.26
				Total Labor	\$334.26
FILTER	AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	2.00 Each)	\$20.94	\$41.87
FILTER	AIR BREATHER [AT415455]	2.00 Each	1	\$189.26	\$378.52
FILTER	CAB AIR FLG: AF55770} AT191102 [P621643]	1.00 Each	1	\$15.60	\$15.60
FILTER	CAB AIR {JD: AT315957} [AT528017]	1.00 Each	1	\$57.72	\$57.72
FILTER	FUEL {FLG: FS20127, P553226 } [AT365870]	1.00 Each	1	\$71.01	\$71.01
FILTER	FUEL {JD: RE533910, FLG: FS1093, P576926} [DZ112918]	1.00 Each	1	\$183.43	\$183.43
FILTER	FUEL {JD: RE539465, RE532952, FLG: FS1091} [DZ130550]	1.00 Each	1	\$86.33	\$86.33
FILTER	LUBE {JD: DZ101884, FLG: LF16106} [DZ118283]	1.00 Each	1	\$36.62	\$36.62
FILTER	TRANSMISSION {FLG: HF6588} [AT318160]	2.00 Each	1	\$184.16	\$368.32
				Total Parts	\$1,239.43
				Total Equip	\$0.00
				Total Cost	\$1,573.69

Item ID	Description	Completed By	Reported Hours
104268	1000 Hour Service	Carla Merklin	6.00

- * Change all filters.
 * Change engine oil.
- * Change final drive oil.
- * Change winch oil.
- * Check all fluids.
- * Complete grease.
 * Sample all oils.

Work Order:

73340

Equipment:

850L LGP JD DOZER [7918]

Work Location:

Current Equipment Location

Created by: Kms:

Carla Merklin 2313

Hr:

2561

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Scheduled 1T0850LXCNF420294

Machinery 9/19/2025

9/19/2025

Item ID	Description	Completed By	Reported Hours
133523	7918 - prep for sale		10.50